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Q: ) The Sl unit of kinematic viscosity is:
(NWDA JE 2019 (12:30 TO 2:30 PM)
HARIYANA SSC 13.04.2018 (AFTERNOON Shift)
(H.P.S.S.C. J.E. 2015)

A : m3/s?




Q: ) Which of the below is the desired policy of the

manometry fluid?
(NWDA JE 2019 (12:30 to 2:30 PM)

A : Low density
B : Low surface

2 igh density |
D : High surtace tension é&w Co\lo[u ]
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Q: ) Which of the following ‘ aracteristic of
real fluid? ~—

A : Compressibility
B : Viscosity

C : Surface tension
D> Incompressibility @6\?{@1
/__——




Q: ) For a circular water tank of 6 m diameter and 4 m
height resting on the ground and having flexible joints
between the floor and the wall the maximum hoo
tension will be developed at: (Civil ESIC JE. 2019) G

e
"N A1 rwaon, KOO Hrrton

he bottom edge

B:1.6 m from the bottom :) PH—D ‘w
C: The top edge

D : 2 m from the bottond \Ké FQ
v, lzma{rﬂ" J "b




Q: ) A jaris filled with a liquid up to the
and weighed. The weight of the liquid is found to be 5.5

e ——eeent:

N. The specific gravity of the liquid will be
approximately (BSPHCL JE Civil 29.01.2019 (Batch-1)

70.56 o
ciose O ¢ SO
D :0.34 @Qm%L 3¢
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Q: ) Two horizontal plates are placed 2cm apart, the
space between them being filled with oil of viscosity 10
poise. If the upper plate is moved with a vile city of 2
m/s, the shear stress in the oil would be:

(M.P. Sub Engg. 2 Sep 2018 2.00 pm)

A : 300 N/m?

B:150 N/m?
C:200 N/m2 e -
> 100 N/m?

=




Q: ) Match list | with Il and choose the correct answer

@from the options given below: (L.M

List-1 (Physical quantity) List-1l (Dimension)
A. Angular velocity

B. Angular acceleration

C. Discharge

J\J\ D. Kinematic
—_
- /A : (a) A-a, B-b, C-d,D-z

B : (b) A-b, B-c, C-d, D-a

C:(c) A-c, B-d,C-a, D-b
D :(d) A-b, B-d, C-a, D-c

’!“\VM




Q: ) Which of the following fluids can be classified
non-newtonian?

(L.M.R.C. J.E. 2015/SSC JE 2 MAR
Sift)(ESE 2003) AHIR

Ker@w

e oil and Diesel oi
2% Diesel oil and water
Dy: Kerosene oil and water




Q: ) Match List-1 with List-l1l and choose the correct
answer from the options below. (UPPCL JE, 2015)

List-l (Fluid property) List-1l (Flow phenomenon)

A. Compressibility 2. Flow of real fluid past a tiny sphere

B. Gravity . Cavitation

C. Viscosity 'c. Hydraulic jump

i_-—-l-'

D. Vapour pressure . Flight of supersonic
@ A : A-c, B-d, C-b, D-a

-~ B: A-c, B-d, C-a, D-b

€. A-d, B-c, C-a, D-b




Q: ) In the given figure which nature of fluid is
represented by curvPPCL JE, 2015 ESE 2010)

@
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Rate of shear deformation

A : Newtonian
G\YQG—B : Psedo-plastic
— C: Dilatant
=D : Ideal Bingham plastic




Q: ) When a force is exerted by a flowing fluid on a

stationary body, the component of the total force in the
direction perpendicular to the direction of motion is

known as (BSPHCL JE Civil 29.01.2019 (Batch-2)
@ALr;

N/

f'/;f,f‘ @GmeuL

D : Stress %,\{.W rD -\J- ( 0 QW
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Q: ) i a storage tapkwhich is completely full, contains
11.3 m height of(water, What pressure would a pressure
gouge read, that is located 1.5 m above the bottom of

the tank? (BSPHCL JE Civil 29.01.2019 (Batch-2)

A :9.81 kPa

B:9.61kPa .
: 96.1 kPa
. 10. a
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Q: ) For a floating body to be in stable equilibrij
metacenter should be- (Rajasthan PSC 2018)

————e

A : Below the centre of gravity
B : Below the center of buoyancy
C : Above the center of buoyancy

7 R T et oy
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Q: ) Condition of stable equilibrium of submerged body:
(LMRC J.E. 13.05.2018 (Shift-l)

ﬁelgh@ body is Equal to buoyancy force &

buoyancy point is above the center of gravity
B : Buoyancy force should be in between the center of
gravity and buoyancy point

KBuoyancy force should be below the center of gravity >(

D : Buoyancy force comude with center of gravity




Q: ) Pressure of 10 m of head of oil, having specific

gravity 0.90 is equal to:
(SSB Himachal Pradesh 18.11.2018)

A :90.00 kN/m?
—B788.29 kN/m? (J)K@W‘w *) ?8 0
C: 1000 kg/m?

D : 882.9 kg/m? :) O?OMU\NXQM A { O

@Gﬁt%ﬂ. ((P -:_) 86[ Z.q M\Mk

d



Q: ) The pressure at a point 4m below the free surface

of wateris (SJVL JE 07-10-2018)

A:19.24 kPa
B:29.24
39.24 kPa O




Q: ) In the stability of floating bodies, the stable
equilibrium is attained if the meta centre (M) point

the centre of gravity (G)
(DFCCIL Civil JE 10-11-2018)

A : Lies below

B : Coincides with @6)\9@}
s shove | =

) : Is parallel to




Q: ) A rectangular plas immersed in a

—_—

liquid or relative density of 0.85 with its 0.75 m side
horizontal and just at the water surface. If the plane of

Justat the v
the plate makes an angle of 60° with the horizontal,

then the pressure on one side of the plate is ...
(M.P. Sub Engg. 4 Sep 2018 2.00 pm) @
Foxe On et .
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. -Hhe reading on the pressure gauge filter on a vessel
he atmospheric is 1.03 bar and value of g is
9.81 m/s%.The absolute pressure in the vessel is-

(NWDA JE 2019 (12:30 to 2:30 PM)
A:2398bar ARG Propun (k)3 G + %O“K

B:33.03 bar

‘Pobr 2 34 103
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_ (VAT IIINTY) 20
Q: ) The energy loss in case of¢entimeter when

compared to orifice meter is- (UPRVUNL JE 2019)

A : Same
B : Depends on type of liquid




Q: ) From the following assumption made in the
derivation of Bernoulli's equation is/incorrect.

(Hariyana SSC JE Shift-1 (11.04.2018) —Z—_ &%)
_A: The fluid is ideal

¥ The flow s unsteady : % '

WA A STEHPM +)S-6€543
27 The flow is incompressible -

P e The floe is i
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Q: ) The frictional resistance for turbulent flow is-
(Hariyana SSC JE Shift-1 (11.04.2018)

X +PToportional to the density of fluid

B : Dependent of pressure

C : Independent to the area of surface in'contact
D : Independent to the nature of surface




Q: ) If Ris the/'hydraulic mean radius/and D is the depth

of water, the section of canal will be most economical
when . (Civil ESIC JE 2019)

AXD = R/2
ne of the given options
% R=D/2
DHEL: ’
YT
WMOAE eApGLE CTY ol oun




Q: ) What is the turbulent shear stress according to
Prandt' mixing length theory? (Civil ESIC JE 2019)




Q: ) The flow in which parallel curved stream lines are

steady has: (Civil ESIC JE 2019)

A : Local acceleration

B : Normal convective as well as local acceleration
C : Normal convective acceleration

_ :angentla convective acceleration 10

s




Q: ) Bernoulli's equation is applicable between any two
points: (Civil ESIC JE 2019)
A : In steady rot}(’konal flow of an incompressible fluid
x: In any type of irrjgational flow of a fluid

C:Inany rota)'@n flow of an incompressible fluid

yn steady irrigatiomal flow of an incompressible
?ﬂﬂfw’cibnq

(s




Q: ) For a flow, the ueloaty field and variation in de
is given as, m‘_ Oz + 3y + 22)3 2 + 4y A r,_f):-a_,f- - 7Ty + A2
respectively. What is the value of AA, if the mass |

conserved? (SSC JE 29-01-2018 (Evening shift) 70_J ﬂ)

@G?"""" Cortlowdy eaur =27

A:-10

ST

D:11




Q:)If axists, the flow should be 'UJ
(Hariyana SSC 13-04-2018 (p) 0 T s
A : Rotational Pa Sé/

B : Laminar - - AN
C : Turbulent DX

/y'/frigational ‘a(# ~
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Q: ) Preston tube is used to measure.

(DDA JE 23.04.2018, 12:30-2:30 pm)

—)
A : Boundary layer viscosit

B-Boundary shear stress

C : Mean flow velocity —_—
D : Turbulent velocity profile -




Q: ) For a laminar flow, what is the ratio average
velocity and maximum velocity- (DMRC JE 16-02-2017
1st Shift)

A:1
B:0.66
C:2




Q: ) For a two dimensional flow, the stream function is

given by =2xy. the velocity at a point (3,4) is equal to-

e ——

(UTTRAKHAND AE 2013) oL 92—

A : 6m/sec (-P:') Zla ?O "NF( SJ.:H

B 8m/se
C10 m/sec
J mysec
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Q: ) The coefficient of discharge (C,) for internal-
mouthpiece, which is running full, is:
MRCL (ASST.MANAGER) 15.05.2018)




Q: ) If time taken (T) to close the valve is less 21/C then
the valve closure is said to be:

(LMRCL (ASST. MANAGER) 15.05.2018)

I”T< <k 5 Suddtn Ubvurs

C : Leakage
D : Water tight

EC\GTJC{GQ‘HW B{g(,ﬂwﬂ K—-\- C%




Q: ) If the Reynold number is more than 5 x 10>, the

boundary layer is called as:
(LMRCL (ASST. MANAGER) 15.05.2018

A : Laminar boundary layer
B-—turbulent boundaryv layer
C : Newtonian boundary layer
D : Ideal boundary layer




Q: ) For turbulent flow through rough pipe, the

factor Revf/(R/k)is (Notation have their usual meaning)-
(UTTRAKHAND AE 2013)

A <lode Ke JF < |33 HY drtDynani(elhy
ey RH’\ S Pi 2
D : §<200<70

RQJ'—? Hjdan
T 5% Do
RIK k Rwev

S



Q:) Thewin a section can be defined as:
(BCCL JE 30 April 2017)

A : Total shear stress _ N\%%O
-B.-Total shear stress at a point 4

: Direction ot the shear stress

D : None of these @
®) G




Q: ) If the bed slope of the channel does not change

along the length, it is called as-
(Hariyana SSC JE Shift-1 (10.04.2018))

A : Rigid Boundary
B : Natural channel
C : Collette channel
D : Prismatic channel

@ Ostrad



id to be laminar if the
Reynolds number iIs less than-
(Hariyana SSc JE Afternoon session (11.04.2018)

: S@D —— TX7%)
4_—5:_ : 5332 600 < o -
C : 4000 oL Ky < 260 4’6“‘\)&%(’)@\

D : 2000 or 4000

(8) G RQ>2“‘_\’@MW\%~

—_




Q: ) A rectangular channel section is most economical

when the depth of flow and bottom width is in the ratio

of..... (M.P. Sub Engg. 2 Sep 2018 2.00 pm)




Q: ) A hydraulic jump occurs when the grade changes
from: (DDA 24.04.2018 (First Shift)

A : Mild to steep @ = ROKM%WM )C-»a*'9"«)

B : Steep to steepe SQB«» CUnon %}B}q Su(l(;\(\‘l Evd
—€5teep to mild ‘RQQX: <l HGQ%

D : Mild to mj
‘- \ ‘\‘ &"* “ IDL




Q: ) Hydraulic jump occur flow changes from
(U.K. combined A E paper Il 2012)

/@uper critical to sub-critical

B : Sub-critical to super critical
C : Critical to super-critical
D : Laminar to turbulent

@ (rstrer).




Q: ) The unit speed N, of a turbine of rotational speed N
and head is equal to: (Civil ESIC JE 2019)




Q: ) Which of the following is the dimensional formula

for the specific speed of a turbine?
(RRB JE CBT-Il 28-08-2019 (morning)




Q: ) The speed-efa turbine, working under unit head, is
given by: (DMRC 18.04.2018 4.30 Pm)




Q: ) In the hydel system, . used at the

unction of ......
(SSC JE 29-01-2018 (Morning Shift) (ESE 2005)

A : Penstock and turbine

B : Power channel and penstock

: Power channel and tail race channel
D : Tail race channel and ps

&G~

—
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Q: ) Pelton wheel turbine is: (UPPCL JE 2016)

. N
A : High head high discharge turbine
BaHigh head low discharge turbine

7
ine

/

—

NN
(/DG}M @

C : Low head high discharge tur
D : Low head low discharge turbine

(Toplndantia




Q: ) Slip of a reciprocating pump is defined as the

UPRVUNL JE 2015) Z > Low DIBUharyt ad High Ml (10'2‘7“\
. Ratio of actual discharge to the theoretical discharge

B : Sum of actual discharge and the theoretical

discharge

[ 7' ference of theoretical discharge and the actual

discharge

D : Product of theoretical discharge and the actual

3405 040 adany




should have a rotational speed of nearly.

(L.M.R.C. JE 2015) Y’\
Lunbier T’loo{u \\/I =) SDDK?M é

A : 1000 rpm NI

: 700 rpm Y.\L\m




Q: ) The specific speed of a pump has dimensions of 4
o1 ™
(SSC JE 2007) @,\ /57

Av13/4T—3/2

B: L34T—1/2

@ C: M°L°T®
S REN



Q: ) Assertion A: The inlet velocity triangle for a Pelton turbine
= - - ﬂ—ﬁ-
is a straight line.

Reéason R: For a Pelton turbine, the vane angle at inlet is 180°.
Which of the following is correct? -
(L.M.R.C. J.E. 2015)
@Coher;
A : Both

and R true and R is the correct explanation of A

B : Both A and R true but R is not the correct explanation of A
C:Ais true but R is false

D: Ais false but R.i

....__.;,\\l L2 * l

. - ol
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Q: ) A penstock pipe of 10 m diameter carries water
under a pressure head o If the well thickness is

9 mm. What is the tensile stress, in Mpa, in the pipe
wall? (UPPCL JE, 2015)

A :1090 6'—_? %04 =

B:272.5




Q: ) The removal of air by filling the pump with water is
called (Uttara hand JE paper Il 2015)

B : De-aerating
C : Sterilizing
D : None of the above




Q: ) When two centrifugal pumps are operated in series,
the discharge (Uttara hand JE paper Il 2015)

A : Increases
B : Decreases

lnltlally increases, then decreases
,@'} RV

‘?’\Lﬂ A Lt —
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